Rhetorical: Strategy Practice “ACT-Type Questions”

PAGE 137:

1. A

(No change. The passage correctly uses the transition term “That is” to signal a continuation and to indicate that an explanation follows. The second sentence in the passage gives an example of an investment.

2. G

(The passage incorrectly uses “on the other hand” to suggest a contrast between an investment and what the investment provides. But there is a cause-and-effect relationship between in investment and what it provides. Choice G appropriately expresses that relationship.)

3. A 

(No change. The passage correctly uses “Nevertheless” to express a contrast between the potential for returns and the dangers of a loss. None of the other choices reflect this contrast.)

4. F

(No change. The passage correctly uses “consequently” to point out the cause-and-effect relationship between the change in interest rates and the value of the investment.)

5. B

(The passage incorrectly uses the word “furthermore” to suggest that the second sentence agrees with and elaborated on the first sentence. But, in fact, there is a contrast between the risks of an investment and the safety of a bank deposit.)
PAGES 140-141:

1. D
(This answer is correct because it makes the most sense. The ball was stuck in the basket after a score and someone had to manually remove the ball. A is incorrect because it makes no sense to use a new ball since there might not be room for a new ball in the basket. B is incorrect because there is nothing in the passage to indicate that the game ended after one basket. C is incorrect because it makes no sense to remove the bottom of the basket during a game, although the bottoms of the baskets were eventually removed before the game began.)

2. H 
(This answer is correct because it is the only choice that deals specifically with getting a rebound shot. F is incorrect because this may be the best overall strategy, but it has nothing to do with scoring a rebound shot. G is incorrect because the backboard already prevented the spectators from interfering. J is incorrect because where the ball was rebounding or not, players would try to angle it in order to make a shot.)

3. A
(A is correct because this may be an interesting point, but it is more detailed than other information in the paragraph. B is incorrect because it is interesting, but it does not belong in this paragraph. C is incorrect because it seems this was an accurate measurement and not a guess. D is incorrect because information about the accuracy of records does not belong in this paragraph.)

4. G 
(G is correct because this is new information about official rules needed to establish the game. F is incorrect because information about scoring points is not added information. H is incorrect because this is not new information about rules; it just reiterates the description in the paragraph. J is incorrect because it adds no actual information about the rules.)

5. B
(B is the correct answer because the sentence does not fit in the context of the paragraph. A is incorrect because this sentence about team size does not belong in the middle of an historic account of famous coaches. C is incorrect for the came reason that choice A is incorrect. D is incorrect because other historical information involving different team sizes may have been appropriate for this paragraph.)

